Petrozavodsk Summer Training Camp 2017
Day 2: UniBuc Contest, Tuesday, August 22, 2017

Problem G. Origami

Input file: standard input
Output file: standard output
Time limit: 1 second

Memory limit: 256 mebibytes

You are given a piece of paper in the shape of a matrix of size N x M. Every cell is colored in one of 26
possible colors which are represented by lowercase letters of the English alphabet. The piece of paper can
be folded in the following way. First, you choose a vertical line between two of its columns or a horizontal
line between two of its rows. This line splits the paper into two sides. You then use the line as the folding
axis and fold the smaller side of the paper onto the larger one going over the axis. However, you can only
do this if all the cells of the smaller side of the paper have matching colors with their corresponding cells
on the other side (in other words, each cell should have the same color as its reflection over the chosen
axis). If both sides of the paper are of equal size, you may fold from either side.

You notice that after any number of folding operations, you end up with a contiguous submatrix of the
original piece of paper. How many different submatrices of the initial piece of paper can you obtain by
doing arbitrarily many folding operations (possibly none)? Two submatrices are considered different if
they occupy different coordinates in the initial matrix, even if they have identical color content.
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Input
The first line of input contains two integers N and M (N, M > 1,1 < N - M < 1000000).

Each of the next N lines contains a string of length M consisting of lowercase English letters. Together,
these lines describe the given piece of paper.

Output

Print a single line with a single integer: the number of different submatrices that you can obtain by
folding the paper.

Example

standard input standard output
57 2
baabbaa
cbbccbb
ababbab
cabccba
bccaacc
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